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Answer four questions in all, selecting at least
one question from each part.
Al questions carry equal marks.
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UNIT - I (5#1$-1)
What do you understand by the crisis of Tsarist
Russia ? Why did the Great reforms fail to
address the issues of backwardness in Russia ?
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What were the reasons for the failure of the
Interim Government in October, 1917 ?
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Evaluate the influence of populism on Russian
literature in the Nineteenth Century
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UNIT - 1I 3#TE-11)
Evaluate the relative contribution of ideology and
civil war in determining the features of war
communism.
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Analyse the principal political and economic
ideas included in New Economic Policy. Why
was this policy rejected ?
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6.  Critically evaluate the position of Bukharim and
Preobrazensky on industrialization in the Great
debate.

TH arfaas # mlew W ogEim sk
st st @ feft 1 omAtEE geiE

UNIT - III (3%tE-111)

7. What was collectivization of agriculture ?
Describe the various stages of the process.
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8. What were the achievements of the first two Five
Year Plans ? Did they succeed in achieving their
primary objectives ?
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9.  Analyse the social and demographic changes
during the process of rapid industrialization.
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UNIT - IVE®TE-1IV)

16.  What were the reasons for the initial losses and

ultimate victory of Soviet Union in the Second
World War ?
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Evaluate .the impact of:Cold War.on the Soviet
Foreign'Policy between1945 and 1956.
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What were the chief factors responsible for the
process of de-Stalinization ? How did it impact
Russian Politics and Society,?,
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